\Questions : 91 1o 180

1. Which of the fo
Important
formation ?
(1) Parent Shell
(2) Flora

(3) Climate
(4) All of the above

llowing g an

component of 8oil

92. Which chemical

method is used for purifying of
water ?

of following

(1) Fluorination
(2) Chlorination
(3) Bro;nination

(4) Filtration

93. Two plane mirrors are kept at the
following angles one by one. In
which case is the no. of images
formed maximum ?

(1) 60° (2) 30°
(3) 45° (4) 90°

94. Lahore Gate Improvement Scheme
was launched in :

(1) 1888 " (@) 1886
(3) 1911 (4) 1936
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92.

(2) FEEEYIH

93.

95.

Time : 1% Hours J

Frer & F Pr-ar gar FEior @
qeayvt qew B 7 '!_

‘.l 96
(1) 591 =t
(2) F=Efedsna
(3) srerarg
(4) IUDFT [

P % & feg wamfs fBfa =
ST o A gm B R
par Sier & ?

(1) w9

(3) s
(4) =T

T qEAS TGO B TH-UFH B
Fr=ifeRad it 9T war sien 8
P Rafa & == o= ufafes
N HE ST A B 7 \
(1) 60° (2) 30° 1\
(3) 45° (4) 90° 1\

(2) 1886 # \
(4) 1936 # \\
!
i

(1) 1888 if
(3) 1911 #
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95. If 2y+2_26
2y+3_'_3_*.}',theny=;

@ 1 @ =
3

6
3) =
@ 7 @

96. What steel was Tipu Sultan sword

made of ?
(1) Stainless Steel (2) Wootz
(3) Silver (4) Gold

97. The policy of merger was given by
which English man ?
(1) Warren Hastings
(2) Lord Dalhousie
(3) William Bentinck
(4) Lord Wellesley

98. It is difficult to walk on ice
because :
(1) pressure is high
(2) pressure is low
(3) friction is high
(4) friction is low
99. Here are the names of resources

and their types. Look at the
options and state which option is

not correct ?

A5, o 244

5 _26
3= 3 Y Wy H AW

EEI‘" .
(H 1 @ 2
3

6
DS @ 1

96. &Y gEw A
3 Wy o 2 e e e

(1) ST e 2)
(3) =iy 4) %:

o1, Bt o B 8
(1) a2l
(2) 9fE =@
(3) fafems SEs
(4) §TS At

98. ¥ UL F@l HoA & FND -
(1) =ra 3t 2

& 7 .

(1) I _ AT HEEH
(Z)Eri(ﬁmq-aqaw"hﬂww
(3) I — SRR HEEH

(1) Coal — Non-renewable
resource
(2) Petroleum - Non-renewable
resource '
(3) Water _ Non-renewable
: resource
(4) Solar Energy — Rzne_wable
resource
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B
106. How many ge ‘e dismi
_ Poys were dismissed 105. 9 uE 1857 e Tamfesy
from E:el'vme and sentenced to ten e ,1-':'{ E‘@ﬁ'{;?m ok
years in jail on 9 May, 1857 ? S L e A = s ?w i
(1) 80 (2) 85 (1) 80 (2) 85
(3) 90 (4) 95 (3) 90 (4) 95
106. The fight for Purna Swaraj was 106. e stememey 7 I =
fought under the presidentship of : AR S w7 ik ’
(1) Mahatma Gandhi (1) weEremy i
(2) C. Rajagopalachari

(3) Sardar Vallabhbhai Patel
(4) Jawaharlal Nehru

107. Which of the following resource 107.
has commercial value ? Tioas ge B 2

(1) Clean environment
(2) Panoramic view

(2) 7R 39T
(3) Cotton clothes @) T T
(4) Pleasant weather (4) gewEm L
108. In a pie chart data is converted 108. U =€ # BH 3IiiHst o haH

into : §5q a0 & 7

(1) Line (1) s+

(2) Angle j (2) aﬁm

(3) Circle ' (3) g«

(4) Percentage (4) ufcrerd

: A &,
109. The animals that produce new 109. ¥ G\Fﬁg :G’n_a'ét =1
young ones are called : B e
(1) Viviparous - (1) s=
(2) Ovi (2) =T 3 A
viparous : |
: 3) a1 (1) AR (2)

(3) Both (1) & (2) | (4)) iy
(4) None of these (

P.T.O.
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(1) 15 em
(2) 17em
(3) 19 em
(4) 21 em

116. ;&;ea of @ square plot is 2401 m?
ind the side of Square plot :
(1) 49 m
(2) 48 m
(3) 59 m
(4) 39m

117. If (=3)™" x (=8)® = (_3)". then the
value of m is :

1) 5
3 1

(23 1
(4) 3

118. If x and y are directly
proportional, then which of the
following is correct ?

(1) x +y = constant
(2) x —y = constant
(3) xy = constant
(4) x/y = constant

119. The scale of map is given as
1 : 300. Two cities are 4 km apart
on the map. The actual distance

between them is :
(1) 1000 km
(2) 1100 km
(3) 1200 km

(4) 1300 km
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B
fowerft avfr 2
(1) 15 ¥y
(2) 17 af
(3) 19 2y
(4) 21 ¥fy
116. a7t wire =5 FABA 2401 @Y
;&z
%lwaﬁtgwwm ? 6
(1) 49
(2) 48 =
(3) 59 =H
. (4) 39 =
117. AR 8y™! x (-8)° = (-3)", @ m
&1 7T B -
1 5 @2 7
3) 1 4) 3
118. 3R x o y gomEE B, & =
: q FHE-ar 98 & ?
(1) x+y= Rt
(2) x-y= U=
(4) xly = Reaiis®

119. T HFERE H A 1: 300 R
T B Y T AERE W4
el g8 W ¥ S A

(1) 1000 fFY
(2) 1100 R
(3) 1200 ferit
(4) 1300 BT
P9 0.







(35)

125. Women angq Men wh uf
::ﬂSkof loads of lronu—ore‘) Ol:a:;::l(:‘ s Zﬁﬁ Aindil A 5y N
eads were called : i :;R:: B MR Y gy T
(;) Wootz (2) Agaria ) — Ii“E“f; i
(3) Bandana (4) Cossaes g (4)) %mmjﬁm
126. The British () h
R wught surveys were 126. At p;g ;ﬁfﬂm a9 ™ wdero
(1) Writing History ; ,
R (1) =Rem ey 3
(2) Effective Judgement (2) =8 ove Buay g‘; % form
(3) Effective Administration @) =8 TE ¥ e BT 3 B
(4) All of ¢
he above (4) IT0= g
127. ilf; ea::; isi a number divisible by 9, 127. X H&A 3x74, 0} wm B, A x
e least value of x is : T TATH HE BeT
(1 1 2 2 (1 1 (2) 2
3) 3 (4) 4 3) 3 4) 4
128. Who said these "Education means 128. & fpe Far “REn & o T
all round drawing out of the best AR A9 H A, 7F AT A
in child and man body, mind and 4 g9 1 Farfor B H
spirit” ? _ ??
(1) Swami Vivekanand (1) = FREEg
(2) Rabindranath Tagore _ (2) = T
(3) Mahatma Gandhi (3) mETT e
(4) Plato @) = é_'
; % _ : :
129. Who allowed the British to trade 129. SRS g i ;H%Ei N .?_?'
in a limited area in Bengal ? Felial ) ¢
(1) Jahangir ) .
(2) Aurangzeb @
TEGEE STHT
(3) Bahadurshah Zafar ) o
(4) qUESTEl

(4) Shahjahan
P.T.0.
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130. The factor of 49p2
(1) (7P + ¢)?
(2) (7P - g)?
@) (TP -8) (7p + 6)
(1) 6-7P) (7p + 6)

— 36 are :

131. Which is the highest law-making

body in our country ?
(1) High Court

(2) Supreme Court
(3) Parliament

(4) Sarpanch

132. Which is an organization that

arranges toilet facility in the cities
and towns ?

(1) Sulabh

(2) Bharat Vikas Parishad
(3) Muhalla Sudhar Samiti
(4) Private Company

133. Which of the following right aims
at making India a Secular State ?

(1) Right to Freedom of Religion
(2) Right to Equality

(3) Right to Education

(4) Right to Freedom

134. Which of the following industries

are owned and operated by
producers or suppliers of raw
materials ?

(1) Private Sector Industry
(2) Public Sector Industry
(3) Cooperative Industry
(4) Joint Sector Industry
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130.

131

132.

133.

134.

(2) GHIFAT BT IATRERIT
(3) foram =1 aiferepT
(4) @IS FT AHR




135. Which oy

number St?te has maximum
Sabha ? °l memberg ;, Lok i m:?ﬂaﬂ
(;) Hal‘yana (2) Utf_ar Py d :
@ Punjah = ph e, e on 2:13)) aﬁmnm
136. Which of these o Sl
leading Htbelses untries is the 136. =z58 o Brr-aqy
: of coffee ?
(1) Brazi) (2 Ind ‘ SR Searasp B 7
(3) China f)nesm (1) =Tsfrst
(4) India . (3) =
137. Which of the following ;
suitable £ i g ;8 ntl)t a 137. =1 & § @y b
conSeP\'atiOn 2 0 and U=h G‘q% m m% 7
(1) CheCkS on over :
grazing 1 ﬁqﬁ"ﬁ'l'(“T
(2) Deforestation : EZ; 9T %
(3) Regulated use of chemical (@) Tem=E  Hrearonst
pesticideg f‘?{ﬁ‘i‘qﬁqﬁ 2
(4) Land reclamation (4) 9 Igurc
138. Who does file the FIR ? 138. Uw%. a:né.,
HIT B ?

(1) Police men g (1) gfe=

(2) Lawyer (2) T

(3) Judge (3) =rEmdis

(4) Public Prosecutor (4) ST g

139. Which statement is irue regarding 139. fa@ =9

sparsely populated areas ? HE-TT FIT TF & 7 .

(1) The regions where there is (1) ™= H%Qﬁ = Cﬂ?ﬂfﬁiﬁ.ﬂ B
extreme cold, sparse 5, agr e SHEE R
population is found. STl €

(2) Hilly areas are sparsely (2) g &= fxe =@ & ¥
inhabited.

(3) Equatorial regions receive (3) ?miﬁdm “;3“ H ami;ﬁ
heavy rainfall, so there is less aut \ , FEiNg
population. T T HE*I ¥

(4) All the above statements are (4) IV TH HAA
true.

P.T.0.
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140. Who presides over the Lok Sabha ?
(1) Prime Minister
(2) Speaker
(3) President
(4) Vice President

Match List—1

with List-2 :
ST
e

" e r

Atomic Power
Station
©)_Uttar Pradesh 1) Kaiga
(IIT) Narora
(d) Tamil Nady

(1) a-1v, b-I11, ¢-11, d-1
(2) a-I, b-111, ¢-11, d-1v
(3) a-I, b-11, c-11I, d-1v
4) a-1v, b-111, -1, d-11

Which of the following factors
affect the location of industries ?

141.

Kalpakkam

142,

(1) Availability of raw material
(2) Proximity to market
(3) Avaﬂabﬂity of water
(4) All of the above
143. Where did the biggest
in the world ?
(1) Chennai *
(2) Jaipur
(3) Bhopal
(4) Gujarat

gas tragedy
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143.

Gl
140. S a5 STl

141,

142,

(1) srerere=t

(2) &frpT

(3) Trezufy

(4) Fqaregafa a gARw

gf-1 H gEl-2

Mf—@_@
[

1Y

(a) HBEZ
(b) IET u29T
(¢) HTe®

@) afmErg  [aV) IR
(1) a-1v, b-111, ¢-11, d-T
(2) a-1, b-111, c-11, d-1V
(3) a-1, b-11, e-111, d-1V
(4) a-1v, b-111, c-1, d-II

1 & & PHo-a1 s Sgae
P srEARufy r gaiad Hear & 2

(1) F== 97 3 Iqeregar

(2) IR i Frepear

(3) ST &I Iqerear

(4) ITqFT Tf
ﬁaaa%mﬁa:sﬁ%maﬁé‘f
&P

(1) I

(2) STayT

(3) HqTeT

(4) e




e fC\rticle 21
‘onstitution the

(1) Right to Spea:antees : Iadiq,,

(2) Right to Llfe ch
(3) Right to Freed .
om

) Nl Informag;
10n

145- Which of thacs
ferrous metalljc
(D Iron Ore
(2) Manganese
(3) Chromita
(4) C{)pper

mine ralg ia

1 a
Miney al 9 non.

| 146. Which of the following ;
18

golden fiber ?
; (1) Jute

(2) Cotton

(3) Silk

(4) Wheat

called

147. Which one ‘of the following
statements 18 not correct regarding
the population pyramid ?

(1) Population pyramid is also
called age sex pyramid.

(2) Population pyramid gives us
an idea of the income level and
health conditions of people of

different age groups.
(3) In countries Wwith low birth
rates, the pase of the
population pyramid is narrow.
(4) The wide base 'of. the
population pyramid indicates

high birth-rate.
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144. w
3 wie !
TS A am W oSAFWE 21

(l) oy =y mm;-

(@) et = oty

(3) = per=rer =y

(4) weram = _m”““’
145, &t & A

) whe s

@) B

(3) HmTEE

(4) =T

146. Bt ¥ ¥ fEY W YW w
ST & 7
(1) 9eu
(2) &arg
(3) H

@) &

147, wEEn e & d@99 ¥
F QA P B S AEE ?

(DWW@MW
frafis @ ®8a £\
(mmm%f#gﬁfaﬁm
Wﬂﬁ%mﬁm%
Wawmaﬁamam

FaHq B €1
4) SHEE M AS
()amlﬂ FaT B E
g




148. Where are the aima of the
constitution mentioned ?
(1) The Preambje
(2) Fundamema] Rights
(3) Directive Principle
(4) Fundamenta] Duties
149. In which year the Domestic
Violence Act passed in India ?
(1) 2004
(2) 2005
(3) 2006
(4) 2007 -
150. Where is the supreme court
located in India ?
i (1) Chandigarh
(2) Kolkata
(3) Mumbai
(4) Delhi

151. The chemical substance rich in

nutrients are called :
(1) Fertilizer
(2) Weedicide
(3) Pesticides
(4) Herbicides

152. The most Reactive metal js :
(1) Copper
(2) Silver
(3) Calcium
(4) Sodium
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151.

152.

149,

150.

ot e
. dfya @ sgaer
oy sy 8 7
(1) sEETasT #
(2)=hfazsmzﬁra§ %
(3) fey-Ferp HHIC
(4) hferp wefeat o

wre # P ad ey ST PO
9| BT T 7 ’

(1) 2004 '
(2) 2005 :
(3) 2006 J
(4) 2007 ;1
W ¥ wdtes e el e
27

(1) =&€re #

(2) rerepraT F

(3) =g

(4) Rl & ; |
99% aaf A Y  TEEES
e FHEen ¥ |
(1) =

(2) GXgaarEETSh

(3) HreTers

(4) SMFHATS

Haie® s ag @
(1) R

(2) =iy

(3) Bfesraw

(4) afegy




(3) Hydrochloric Acid
(4 Carbon 'I‘etrachloride

154- The SDil fOMed b
matter is called :

(1) Pesticide
(2) Fertilizer
(3) Humus
(4) Biocide

¥y decayed organic

155. Which of following gas is used to
control fire ?

(1) NHs (Ammonia)

(2) H: (Hydrogen)

(3) CO:z (Carbon Dioxide)
(4) Fz (Fluorine)

156. When a sperm having X-
chromosome fuses with the ovum,
the child born will be :

(1) Male

(2) Female

(3) Male as well as female twin

(4) It depends on the chance of
fusion :

157. Which of the following is a natural

fiber ?
(1) Wool (2) Nylon
(3) PVC (4) Polythene
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(1) NHa. (sTfern)
(2) Hy (er5grr)

(3) CO: (w1 sEafwaEs)
(@) F: (F0rem)

166. 59 XA aw g BE &
e e o E, @ Y 8w awn
=T BT :

(1) 7T

(2) A=

(3) X AT A= FAl

(4) 98 Hwaw @ WA W
it e B




158. Iron is galvanized by coating it

with :

(1) Chromium
(2) Sodium

(3) Magnesium
(4) Zinc

159. The clearing of forests is referred
to as :

(1) Reforestation
(2) Desertification
(3) Deforestation
(4) Sanitation

1680. Burning coal in a closed room will
produce :

(1) NO: (Nitrogen Dioxide)
(2) CO: (Carbon Dioxide)
(3) CO (Carbon Monoxide)
(4) Oz (Oxygen)

161. Name the sphere that supports life
and where living organisms exist :

(1) Atmosphere
(2) Lithosphere
(3) Biosphere

(4) None of these

162. Which
AIDS ?

(1) A protozoa
(2) A bacteria
(3) A virus

(4) An algae

NMMS-2022

microorganism  causes

160.

161.

162,

(1) NO; (FrEgrr STESTFAIES)
2) CO, (= EEAFES)
@) CO (T AeiFa=s)
(4) O2 (aﬂa%ﬂm‘ﬁ)

H AT FHar B I @ Shaa

ST Ao ® -
(1) agH=w
(2) s |
3) ravies
(4 9 ] HE T

HIF-|T

e B ?

(1) T qrersta
(2) TH SFARy
(3) % aERy
(4) TF e

TSH = HEO

O e



163. Refrigerati
e ng gages 1
cnsvie Tanset 8 which harms

(1) MFC
(2) CFC
(3) LPG
(4) DFC
164. The

process of removing salt from
Sea water is called :

(1) Calcination
(2) Desalination
(3) Evaporation
(4) Condensation
165. Chromosomes are found in :
(1) Nucleus
(2) Nucleolus
(3) Nucleoplast

(4) Vacuole

166. In humans, the development of
fertilized egg takes place in the :
(1) Ovary
(2) Oviduct
(3) Testis
(4) Uterus

167. The amount of Heat Energy
produced on complete combustion
of 1 kg of a fuel is called :

(1) Calorific Value
(2) Significant Value
(3) Latent Heat |
(4) Internal Energy

VMMS-2022

3. wsifere Py -
16 it ; ??’?T: AT g =
(1) MFC
(2) CFC
3) LPG
(4) DFC

164. TAl 511 | waoy oy :
ufthar wHeemd & . e

(1) ™emas

(2) ARy
(3) arsfimTer
(4) T

165. IUTHA 9T S ¥ -
(1) =iyes o
(2) s
(3) irmarem H
(4) Fefermenr &
166. W=l #, ARG o @ faww
L -
(1) siswE &
(2) FEganfasit &

(3) guor H
(4) AT H

167. FFdl 1 Rremm Su &0 T @A
FE U IO BR AR FHHEA
FoT @Y BT S @

(1) A "7
(2) TR A

(3) T FHH
(4) STt F

) ol 3 4
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168. The micr i hi ; fore® FAIITnS ey 1
o yf'ltllragra;n:lsm Which containg 168, g-g geaaaid
(1) Virug (1) arreE
(2) Fungus (2) FaF
(3) Algae (3) et
(4) All of the aboye (4) IudrRT At
169. A plastic Which can pog be .189. o e P8 T SHT
remouled again by heating is : & fpar o1 Gl 98 © ¢
(1) Polyethene (1) dtfefref=
(2) PVC (2) .8 ..
(3) Polystyrene (3) dfefreziT !
(4) Bakelite (4) TPz {
170. The synthetic fiber that appears to 170. 9 % 4y @A ae Hedfg 1
resemble wool is - I FT AH B )
(1) PET (1) = |
(2) Acrylon (2) ¥fEpai i
(3) Rayon (3) W=
(4) Nylon (4) AT
171.  Tissues combine to form : 171. &a% Merept 91 2 - 1
(1) Nucleus (1) *Tifrs |
s |
(2) Cells (2) Ffarepnd |
(3) Organism (3) sta .
(4) Organs (4) 39 \
172. After the sun, the next nearest 172. @8 & 9= gt 3 opmn I'!
star to Earth is : Frepeam arr & - |
(1) Alpha Centauri (1) s =T
(2) Polestar (2) g3 ara
(3) Sirius (3) HiftTg
(4) Proxima Centauri (4) ITferTT Jatdy
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L, b e e
) LT
£

(45) B
i - 178. A book of mass 20 g is placed on EETHTH qEeE
s : a 173. 5 5
::};;Ie.b Fllr:d the thrust exerted by " zg; Hi;:t £ mzﬁirc:'lﬁﬁ B ﬁ“r; "—THT
: 00K on the table (Take : '
acco}ef? tion due to gravity ag H | (EeE ®mEer 1 e
10 ms™?) Wik a)_ . U me*” =
(;) 0.2 N (2 2N (1) 0.2N (2) 2N
( ).200N | (4) 20N (3) 200N (4) 20N
174. The bumper and door handles of 174. qewHT B d@97 M7 zvary 2
motorcars are  coated with g=w 9T @frEn & g =58 A
chromium because : 2 =ity - )
(1) It does not easily get corroded (1) gE smEr ¥ T T8 2 3
(2) It does not easily get scratched (2) T8 JEF |/ @i 98 o B
(3) It tarnishes quickly (3) I& wiear gfter & oI B
(4) It 1s cheap (4) 98 T ®
IUAET ®H § PE-T BEea =6

Which one option is not a correct
cause ?

TETE ?

175. If@ SHUaw &9 50° B, @
At B @ wwEia B
F = B HOT B IHT HL -

175. If the angle of incidence is 50°,
then calculate the angle between
the incident ray and the reflected

ray :
@) 50° g (1) 50°

@) 1900 @) 130°
& 36° 3) 80°
4) 100° L

176. == WX =9 Wear g1 @R W

gedl o TgeEd A fwo EEE

176. A bomb explodes on the moon.

ill 1 for the sound
e b U
(1) 10 Second (1) 10 §H"S
(2) 1000 Second @) 10;(:{ JEE
(3) 1day (i) ;ﬁ B e
4) Sound will not be heard (4) _
| P.T.O.

NMMS-2022







